setic field due to an infinite long straight

Or :
F_p,_-ession for force per unit length betweeﬁu,
 conductors. Define one ampere current
strip of 2cm wide and 1.0mm thick is placeq i
irrent of 200A is setup in the strip, ca
Hall mobility, if the number of efeate
4 and resistivity is 1,72x10*
Or
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oe, Using Maxwell's equations prove that E,
At e
: B
wrry usual meaning.
moving in one dimensional box of infjp:

PR it ;
yarticle within the range 1°A at the centreeogr;’bab.-
0X

out knee Voltage

= _ 9
> observed in reflected light of j=

B 5.9%10 e
ark ring is 0.5cm. Find the radiy *10%m

22 cu"’m’e of
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red [o give their answers in their own words as far

9

und pendulum and show that centre of oscillation
1sion are interchangeable.

ulate the wavelength of light u
riment, when gap is filled with




